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I Analysis of 9100 #10 — standing on top of 0’53, on an animal or on a fellow’s feet
a  source:*™a1n — analogy of N *»a::floor of Nty (both sanctified)
i justas: there can be no n¥¥n between him and the nw 5>
ii  similarly: there can be no n¥’xn between him (read: his feet) and the floor of the nary
iii  justification: if we only taught 0’93, 8”10 since they aren’t living; if we only listed nnna, since it isn’t human...>"np
b »r7732 8" —if he had one leg on a rock or vessel & the other leg on the floor and did nmay
i ruling: if he could stand on the leg on the floor (i.e.if rock/vessel were removed); if so, n7w3 1NTY, if not, N0
C BN ’T's question (verion 1): if a tile was loose and he stood on it; if he didn’t intend to re-affix it, certainly yxm
i but:if he intended to affix, do we consider it already in place (= nIw) or since it's not presently fixed — n%va
d  ’pN ’7's question (version 2- »vir 72 7137): if a tile was removed and he stood in that divot — valid nmay or not?
i question: did 77 sanctify the naxy or all the way down to the depths?
1 challenge: if that's the question, ask about a case where the entire nax1 was removed
2 rather: all agree that the sanctity holds to the depths; question is is this considered mw 717 —1’n
I Analysis of dispute v"1/p"n about 5xnwa nyap (v validates)
a  wn71zv. 1, both np% and inn associated with waxr = both n%ap and np>ar (1n11) must be with right
i dissent: 9" -only states 1axR1 in context of N1 > MRnWa nHap is valid
1 question: v™; if he accepts the w”1 that identifies every asxr as “R”, should apply to both; if not, to neither
(a) answerl (7177 27): he doesn’t accept w13; all he says is that since it doesn’t say 1n in re: nbap, L is valid
(i) challenge (737): then he should allow 7”0t with L
1. additionally: he does accept w1 — he explicitly states that every "1” and "pasr”is right (only)
(b) answer2 (#37): he does accept w1 — what he means is that it doesn’t state "1, rather “yagX” — which
cannot be used for nYap < must not require Pw
(i) challenge (822275 >wK 17 71773): he could hold the p1m with his finger and do n%ap
(c) answer3 (771x): dispute is whether word (1axr1) can be applied backwards (p"n) or only1a% (v™)
(i) note (»ax): w"ar1 disagrees with his father and p”n:
1. w7ax7. anywhere it says n%ap with asR, only Lnbap is 5109; nrm with yaxr only L nrniis 5100
a. example of yayna arnx v. 2; a word applies back, but only one — and not »InxY at all
IOI  nv "7 (quoted by n”a1v): wherever it states N3 and yaxr — must be R-only
a  assumption: require both, as in v. 1, and we infer from y11¥n (v. 3 — where 103 and paxR are there, with explicit nnn2)
i challenge: n¥np only states 112 (no Yaxr); yet 2:x mman rules that it is invalid
ii  rather (837): require either YaxR or 102
1 challenge (»2x): taking D™aR to ramp (v. 4), states |n3, yet he brings them with left hand
2 answer: 102 or YaxR are enough for those mmay that are indispensible for n183 following lead of y11¥n
(a) challenge: n%ap is indispensible for 77193, only says 112 and W™ permits (in our mwn) if done with xnw
(b) answer: v™ requires both 113 and yaxr
(i) challenge: w™ himself states that "1” and "yaxr” always mean “R”
(if) answer: w" holds that "jn2” requires "1/yaxR”, but "1/paxr” doesn’t require "jn3”
1. question: then (to w™7), why write jn3 at all?
2. answer: that they must be 111732 (i.e. NN *1312)
(iii) challenge: w™ doesn’t dispute that 7”1, which only states 113, requires 11’ (he doesn’t dispute niwn)
(iv) answer: he does disagree (xn»11)
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(c) challenge: ®17's observation that 1Ry 931, 7 from y1xn (all R) are used for v to ny»x7 ,nvoN ,nxonp
(i) explanation: no need for T::1, 13 "7’s rule should lead to that on its own
(ii) answer: one is needed to teach that n¥mp is with R; other for pmp v11p (in n7w *93) done with R
(d) question: according to w", who (perhaps) doesn’t require ymp wy1p at all (7:3 mnin) — why the need for 7::7?
(i) and even: for those n'®1MR who maintain that he does require it — he validates if done with L (1::79?)
(ii) and: cannot be for the nx¥np itself (since he rejects 11ny '3, as we’ve seen), since he learns that from v. 5:
1. n737 7792 7177 71 "Man is compared to nkon and to DwK:
a. if he chooses to do it without a 3, uses R like nxon
b. and if: he chooses to do it with "3, uses L like nwr
2. answer: needed for n¥mp of RVIN NMIn
a. since: "™ explains that a R0y nmn doesn’t have oil or frankincense, so that it shouldn’t be
“beautiful”, he may hold that yn>1 nxmnp is valid
b. therefore: 1::1 extends requirement of Pra n¥np to RVIN NNan as well.
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